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1

/Dat aMap/ Struct/ Slice

/1 1 NSERT I NTO “user (" nane’) VALUES('john')
g. Model ("user"). Data(g. Map{"nane": "john"}).lnsert()

/1 1 NSERT | GNORE | NTO “user  (“uid', nane’) VALUES(10000,"'john")
g. Model ("user"). Data(g. Map{"ui d": 10000, "nanme": "john"}).lInsertlgnore()

/1 REPLACE I NTO “user (“uid, name’) VALUES(10000,"john")
g. Model ("user"). Data(g. Map{"ui d": 10000, "nanme": "john"}).Replace()

/1 I NSERT I NTO “user (“uid", name’) VALUES(10001,"'john') ON DUPLI CATE KEY
UPDATE " ui d” =VALUES( " ui d"), " nanme’ =VALUES( " nane")
g. Model ("user"). Data(g. Map{"ui d": 10001, "nanme": "john"}). Save()

Dat a/

g. Model ("user").lnsert(g. Map{"nane": "john"})
g. Model ("user"). Repl ace(g. Map{"ui d": 10000, "nane": "john"})
g. Model ("user"). Save(g. Map{"ui d": 10001, "nane": "john"})

struct uid/name/site

type User struct {
ud int orm tuid"”
Name string “orm "nanme"’
Site string "orm"site""

}
user := &User{

ud 1,

Narme: "john",

Site: "https://gofrane.org",
}

/1 INSERT I NTO “user (“uid', name’, site’) VALUES
(1,"john","https://gofrane.org")
g. Model ("user"). Data(user).lnsert()

2

Dat aSl i ceMapSt ruct SQL

/1 I NSERT I NTO “user (" nane’) VALUES('john_1"),('john_2"),("john_3")
g. Model ("user"). Data(g. Li st{

{"nane": "john_1"},
{"nane": "john_2"},
{"nane": "john_3"},

}).Insert()

Bat ch10

/1 I NSERT I NTO “user (" name’) VALUES('john_1"),('john_2")
/1 INSERT I NTO “user (" nane’) VALUES('john_3")
g. Model ("user"). Data(g. Li st{

{"nane": "john_1"},
"nanme": "john_2"},
{"nane": "john_3"},

}).Batch(2).Insert()



oracle, dm nssql

// I NSERT I NTO “user(“uid', name’) VALUES(10000,"'john_1"),
(10001, ' john_2"), (10002, "' j ohn_3")
/1 ON DUPLI CATE KEY UPDATE "ui d" =VALUES( uid"), name’ =VALUES( " nane")
g. Model ("user"). Data(g. Li st{
{"uid":10000, "nane": "john_1"},
{"uid":10001, "name": "john_2"},
{"uid":10002, "nane": "john_3"},
}). Save()

RawSQL

gdb. RawSQLSQLORM-RawSQL

/1 INSERT INTO “user ("id", passport’, password , nicknanme', create_time’)
VALUES('id+2',"john','123456', ' now()")
g. Model ("user"). Dat a(g. Map{

"id": "id+2",

"passport": "j ohn",

"password": "123456",

"ni cknane": "JohnGuo",

"create_time": "now()",
}).Insert()

/1 Error Code: 1136. Columm count doesn't match value count at row 1

gdb. Raw

/1 INSERT INTO “user ("id', passport’, password , nicknanme', create_time’)
VALUES(i d+2, ' john', ' 123456', now())
g. Model ("user"). Dat a(g. Map{

"id": gdb. Raw("i d+2"),
"passport": "j ohn",
"password": "123456",

"ni cknane": "JohnGuo",

"create_time": gdb. Rawm"now()"),
}).Insert()
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